

*TWO INFINITE FAMILIES OF CONGRUENCES MODULO 9
FOR OVERCUBIC PARTITION PAIRS*

BY

BERNARD LISHUANG LIN (Xiamen), ERIN YIYING SHEN (Nanjing) and
ANDREW YEZHOU WANG (Chengdu)

Abstract. Let $\bar{b}(n)$ denote the number of overcubic partition pairs of n . Applying the theory of modular forms, Kim obtained two congruences for $\bar{b}(n)$ modulo 3 and 64. More congruences modulo 3 and 5 have been found by the first author of the present paper. In this paper, we proceed with the study of the congruence properties of $\bar{b}(n)$ and establish two infinite families of congruences modulo 9.

1. Introduction. In a series of papers [3, 4, 5], Chan studied congruence properties of the cubic partition function $a(n)$ whose generating function satisfies

$$(1.1) \quad \sum_{n=0}^{\infty} a(n)q^n = \frac{1}{(q; q)_{\infty}(q^2; q^2)_{\infty}},$$

where $(a; q)_{\infty} = (1 - a)(1 - aq)(1 - aq^2) \cdots$.

Inspired by Chan's work, many researchers engaged in investigating analogous partition functions. First, Kim [8] considered its overpartition analog and introduced the overcubic partition function $\bar{a}(n)$ by

$$(1.2) \quad \sum_{n=0}^{\infty} \bar{a}(n)q^n = \frac{(-q; q)_{\infty}(-q^2; q^2)_{\infty}}{(q; q)_{\infty}(q^2; q^2)_{\infty}}.$$

Using the theory of modular functions, he showed that

$$(1.3) \quad \sum_{n=0}^{\infty} \bar{a}(3n + 2)q^n = 6 \frac{(q^3; q^3)_{\infty}^6 (q^4; q^4)_{\infty}^3}{(q; q)_{\infty}^8 (q^2; q^2)_{\infty}^3},$$

from which $\bar{a}(3n + 2) \equiv 0 \pmod{6}$ follows immediately.

2010 *Mathematics Subject Classification*: Primary 05A17; Secondary 11P83.

Key words and phrases: overcubic partition pairs, dissection formula, congruence.

Received 21 December 2015.

Published online 9 December 2016.

Later, Zhao and Zhong [14] studied the partition function $b(n)$ defined by

$$(1.4) \quad \sum_{n=0}^{\infty} b(n)q^n = \frac{1}{(q; q)_{\infty}^2 (q^2; q^2)_{\infty}^2}.$$

They established several Ramanujan type congruences modulo 5, 7 and 9:

$$(1.5) \quad b(5n + 4) \equiv 0 \pmod{5},$$

$$(1.6) \quad b(7n + i) \equiv 0 \pmod{7},$$

$$(1.7) \quad b(9n + 7) \equiv 0 \pmod{9},$$

where $i = 2, 3, 4, 6$.

Since $b(n)$ counts pairs of cubic partitions, Kim [9] christened $b(n)$ the number of cubic partition pairs. Recently, Kim [10] introduced its overpartition analog $\bar{b}(n)$, which counts the number of overcubic partition pairs of n and satisfies

$$(1.8) \quad \sum_{n=0}^{\infty} \bar{b}(n)q^n = \frac{(-q; q)_{\infty}^2 (-q^2; q^2)_{\infty}^2}{(q; q)_{\infty}^2 (q^2; q^2)_{\infty}^2}.$$

Based on the arithmetic properties of quadratic forms and modular forms, he derived the congruences

$$(1.9) \quad \bar{b}(9n + 3) \equiv 0 \pmod{3},$$

$$(1.10) \quad \bar{b}(8n + 7) \equiv 0 \pmod{64}.$$

More recently, Lin [11] established several congruences modulo 3 and 5 for $\bar{b}(n)$, including

$$(1.11) \quad \bar{b}(3^{\alpha}(3n + 2)) \equiv 0 \pmod{3},$$

$$(1.12) \quad \bar{b}(3^{\alpha}(4n + 2)) \equiv 0 \pmod{3},$$

$$(1.13) \quad \bar{b}(20n + 10) \equiv 0 \pmod{5},$$

for all $n \geq 0$ and $\alpha \geq 2$. Moreover, invoking the Ramanujan theta function

$$\varphi(q) = \sum_{n=-\infty}^{\infty} q^{n^2},$$

Lin established the congruence

$$\sum_{n=0}^{\infty} \bar{b}(10n)(-q)^n \equiv \varphi(-q^2) \sum_{n=0}^{\infty} \bar{p}(5n)q^{2n} \pmod{5},$$

where

$$\sum_{n=0}^{\infty} \bar{p}(n)q^n = \frac{(-q; q)_{\infty}}{(q; q)_{\infty}}.$$

Applying the following result due to Treneer [12]:

$$\sum_{n=0}^{\infty} \bar{p}(5n)q^n \equiv \varphi(-q)^3 \pmod{5},$$

we obtain the nice congruence relation

$$(1.14) \quad \sum_{n=0}^{\infty} \bar{b}(10n)q^n \equiv \varphi(-q^2)^4 \pmod{5},$$

which should have appeared in [11].

The goal of this paper is to prove the following three congruences:

$$(1.15) \quad \bar{b}(3^\alpha(3n+2)) \equiv 0 \pmod{9},$$

$$(1.16) \quad \bar{b}(3^\alpha(4n+2)) \equiv 0 \pmod{9},$$

$$(1.17) \quad \bar{b}(36n+12) \equiv 0 \pmod{9},$$

for all $n \geq 0$ and $\alpha \geq 2$.

2. Preliminaries. For notational convenience, we set

$$f_t := (q^t; q^t)_\infty.$$

We now list some preliminary results, to be used later.

LEMMA 2.1. *We have*

$$(2.1) \quad \varphi(-q) = \frac{f_1^2}{f_2},$$

$$(2.2) \quad \varphi(q) = \frac{f_2^5}{f_1^2 f_4^2},$$

$$(2.3) \quad \varphi(-q) = \varphi(-q^9) - 2q \frac{f_3 f_{18}^2}{f_6 f_9}.$$

Proof. By Jacobi's triple product identity [2, Entry 19, p. 35], it is easy to obtain the product formulae for $\varphi(-q)$ and $\varphi(q)$. For the proof of (2.3), see [2, p. 49]. ■

The following result of Hirschhorn [6] plays a key role in the proofs of our main results.

LEMMA 2.2. *We have*

$$\frac{(-q; q)_\infty (-q^2; q^2)_\infty}{(q; q)_\infty (q^2; q^2)_\infty} = A_0(q^3) + qA_1(q^3) + q^2A_2(q^3),$$

where

$$\begin{aligned} A_0(q) &= \frac{f_4^4 f_6^7}{f_2^8 f_3^2 f_{12}^3} + 12q \frac{f_3^3 f_4^3 f_6^3}{f_1^7 f_2^4}, \\ A_1(q) &= 2 \frac{f_3^9 f_4^3}{f_1^9 f_2^2 f_6^3} + 8q \frac{f_4^3 f_6^6}{f_1^6 f_2^5}, \\ A_2(q) &= 6 \frac{f_3^6 f_4^3}{f_1^8 f_2^3}. \end{aligned}$$

In [1], Andrews, Hirschhorn and Sellers studied the arithmetic properties of a partition function $\text{ped}(n)$, whose generating function satisfies

$$\sum_{n=0}^{\infty} \text{ped}(n)q^n = \frac{f_4}{f_1}.$$

They established the following nice 3-dissection formula for $\text{ped}(n)$.

LEMMA 2.3.

$$\begin{aligned} \sum_{n=0}^{\infty} \text{ped}(3n)q^n &= \frac{f_4 f_6^4}{f_1^3 f_{12}^2}, \\ \sum_{n=0}^{\infty} \text{ped}(3n+1)q^n &= \frac{f_2^2 f_3^3 f_{12}}{f_1^4 f_6^2}, \\ \sum_{n=0}^{\infty} \text{ped}(3n+2)q^n &= 2 \frac{f_2 f_6 f_{12}}{f_1^3}. \end{aligned}$$

We also need the following four 2-dissection formulae for $f_1^2, f_1^{-4}, f_3^3 f_1^{-1}, f_1 f_3^{-3}$.

LEMMA 2.4 (see [13, (2.4) and (2.10)]).

$$\begin{aligned} f_1^2 &= \frac{f_2 f_8^5}{f_4^2 f_{16}^2} - 2q \frac{f_2 f_{16}^2}{f_8}, \\ \frac{1}{f_1^4} &= \frac{f_4^{14}}{f_2^{14} f_8^4} + 4q \frac{f_4^2 f_8^4}{f_2^{10}}. \end{aligned}$$

LEMMA 2.5 (see [7]).

$$\begin{aligned} \frac{f_3^3}{f_1} &= \frac{f_4^3 f_6^2}{f_2^2 f_{12}} + q \frac{f_{12}^3}{f_4}, \\ \frac{f_1}{f_3^3} &= \frac{f_2 f_4^2 f_{12}^2}{f_6^7} - q \frac{f_2^3 f_{12}^6}{f_4^2 f_6^9}. \end{aligned}$$

The following two congruence relations are easy to establish from the binomial theorem, and we will frequently use them without explicit mention.

LEMMA 2.6.

$$f_1^3 \equiv f_3 \pmod{3}, \quad f_1^9 \equiv f_3^3 \pmod{9}.$$

LEMMA 2.7.

$$\varphi(-q) \equiv \frac{f_3^2 f_{12}}{f_1^4 f_2 f_4^3} + 3q \frac{f_2 f_3 f_{12}^3}{f_1 f_4 f_6^2} \pmod{9}.$$

Proof. By [7, (1.35)], we have

$$\frac{f_1^3}{f_3} = \frac{f_4^3}{f_{12}} - 3q \frac{f_2^2 f_{12}^3}{f_4 f_6^2}.$$

Squaring the above identity, we obtain

$$\frac{f_1^6}{f_3^2} \equiv \frac{f_4^6}{f_{12}^2} + 3q \frac{f_2^2 f_4^2 f_{12}^2}{f_6^2} \pmod{9}.$$

Multiplying the above identity by $\frac{f_3^2}{f_1^4 f_2}$ yields

$$\begin{aligned} \frac{f_1^2}{f_2} &\equiv \frac{f_4^6 f_3^2}{f_{12}^2 f_1^4 f_2} + 3q \frac{f_2 f_4^2 f_{12}^2 f_3^2}{f_6^2 f_1^4} \\ &\equiv \frac{f_3^2 f_4^6}{f_1^4 f_2} \cdot \frac{f_{12}}{f_4^9} + 3q \frac{f_3^2 f_{12}^2}{f_6^2} \cdot \frac{f_2 f_{12}}{f_4 f_1 f_3} \\ &\equiv \frac{f_3^2}{f_1^4 f_2} \cdot \frac{f_{12}}{f_4^3} + 3q \frac{f_3 f_{12}^3 f_2}{f_1 f_4 f_6^2} \pmod{9}. \end{aligned}$$

This completes the proof. ■

3. Congruences modulo 9 for $\bar{b}(n)$. We start by proving the following congruence relation for the generating function of $\bar{b}(3n)$.

LEMMA 3.1.

$$(3.1) \quad \sum_{n=0}^{\infty} \bar{b}(3n)q^n \equiv \frac{f_6^8}{f_3^4 f_{12}^3} \varphi(-q^2) + 6q \frac{f_6^6}{f_{12} f_3} \sum_{n=0}^{\infty} \text{ped}(n)q^n + 6q \frac{f_3^8 f_{12}^2}{f_6^4} \varphi(-q)^2 - 3q^2 \frac{f_6^4 f_{12}^2}{f_3} \varphi(-q)^2 \pmod{9}.$$

Proof. It is easy to see that

$$\sum_{n=0}^{\infty} \bar{b}(n)q^n = (A_0(q^3) + qA_1(q^3) + q^2 A_2(q^3))^2.$$

Extracting the terms of q^{3n} on both sides of the above identity and replacing q^3 by q , we obtain

$$\sum_{n=0}^{\infty} \bar{b}(3n)q^n = A_0(q)^2 + 2qA_1(q)A_2(q).$$

It follows from Lemma 2.2 that

$$\begin{aligned} \sum_{n=0}^{\infty} \bar{b}(3n)q^n &\equiv \frac{f_4^8 f_6^{14}}{f_2^{16} f_3^4 f_{12}^6} + 6q \frac{f_4^7 f_6^{10} f_3}{f_2^{12} f_3^2 f_1^7} + 2q \left(3 \frac{f_3^{15} f_4^6}{f_1^{17} f_2^5 f_6^3} - 6q \frac{f_3^6 f_4^6 f_6^6}{f_1^{14} f_2^8} \right) \\ &\equiv \frac{f_6^8}{f_3^4 f_{12}^3} \cdot \frac{f_2^2}{f_4} + 6q \frac{f_6^6}{f_{12} f_3} \cdot \frac{f_4}{f_1} + 6q \frac{f_3^8 f_{12}^2}{f_6^4} \cdot \frac{f_1^4}{f_2^2} - 3q^2 f_6^4 f_{12}^2 \cdot \frac{f_1^4}{f_2^2} \pmod{9}. \end{aligned}$$

Substituting the product formula for $\varphi(-q)$ and the generating function for $\text{ped}(n)$ yields the desired result. ■

We are now in a position to prove our first two congruences.

THEOREM 3.2. *For $n \geq 0$ and $\alpha \geq 2$,*

$$(3.2) \quad \bar{b}(3^\alpha(3n + 2)) \equiv 0 \pmod{9},$$

$$(3.3) \quad \bar{b}(3^\alpha(4n + 2)) \equiv 0 \pmod{9}.$$

Proof. Choosing those terms from (3.1) whose powers of q are multiples of 3, replacing q^3 by q , and employing Lemmas 2.1 and 2.3, we find that

$$\begin{aligned} \sum_{n=0}^{\infty} \bar{b}(9n)q^n &\equiv \frac{f_2^8}{f_1^4 f_4^3} \varphi(-q^6) + 6q \frac{f_2^6}{f_1 f_4} \cdot 2 \frac{f_2 f_6 f_{12}}{f_1^3} + 6q \frac{f_1^8 f_4^2}{f_2^4} \cdot 4 \frac{f_1^2 f_6^4}{f_2^2 f_3^2} \\ &\quad - 3q f_2^4 f_4^2 \cdot \varphi(-q^3) \cdot (-4) \frac{f_1 f_6^2}{f_2 f_3} \pmod{9}. \end{aligned}$$

Applying the easily checked result

$$\frac{f_1^8 f_4^2}{f_2^4} \cdot \frac{f_1 f_6^2}{f_2 f_3} \equiv f_2^4 f_4^2 \varphi(-q^3) \pmod{3},$$

we conclude that

$$\begin{aligned} \sum_{n=0}^{\infty} \bar{b}(9n)q^n &\equiv \frac{f_2^8}{f_1^4 f_4^3} \cdot \frac{f_6^2}{f_{12}} + 3q \frac{f_2^7 f_6 f_{12}}{f_4 f_1^4} \\ &\equiv \frac{f_6^5}{f_1^4 f_2 f_4^3 f_{12}} + 3q \frac{f_2 f_6^3 f_{12}}{f_1 f_3 f_4} \pmod{9}, \end{aligned}$$

which can be rewritten as

$$\sum_{n=0}^{\infty} \bar{b}(9n)q^n \equiv \frac{f_6^5}{f_3^2 f_{12}^2} \left(\frac{f_3^2 f_{12}}{f_1^4 f_2 f_4^3} + 3q \frac{f_2 f_3 f_{12}^3}{f_1 f_4 f_6^2} \right) \pmod{9}.$$

Invoking Lemmas 2.1 and 2.7, we arrive at

$$(3.4) \quad \sum_{n=0}^{\infty} \bar{b}(9n)q^n \equiv \varphi(q^3) \varphi(-q)$$

$$(3.5) \quad \equiv \varphi(q^3) \left(\varphi(-q^9) - 2q \frac{f_3 f_{18}^2}{f_6 f_9} \right) \pmod{9}.$$

Collecting the terms whose powers of q are multiples of 3 from (3.5), and replacing q^3 by q , we obtain

$$\sum_{n=0}^{\infty} \bar{b}(27n)q^n \equiv \varphi(q)\varphi(-q^3) \pmod{9}.$$

Combining (3.4) with the above congruence, we find that

$$\sum_{n=0}^{\infty} \bar{b}(9n)q^n \equiv \sum_{n=0}^{\infty} \bar{b}(27n)(-q)^n \pmod{9},$$

which implies that for $n \geq 0$,

$$(3.6) \quad \bar{b}(9n) \equiv (-1)^n \bar{b}(27n) \pmod{9}.$$

Equating the coefficients of q^{3n+2} on both sides of (3.5), we get

$$(3.7) \quad \bar{b}(27n + 18) \equiv 0 \pmod{9}.$$

By the definition of $\varphi(q)$, we can express (3.4) as

$$\sum_{n=0}^{\infty} \bar{b}(9n)q^n \equiv \sum_{k=-\infty}^{\infty} \sum_{\ell=-\infty}^{\infty} (-1)^\ell q^{k^2+3\ell^2} \pmod{9}.$$

It is easy to see that there are no integers k and ℓ such that $k^2 + 3\ell^2 \equiv 2 \pmod{4}$. This gives

$$\sum_{n=0}^{\infty} \bar{b}(36n + 18)q^n \equiv 0 \pmod{9}.$$

Consequently,

$$(3.8) \quad \bar{b}(36n + 18) \equiv 0 \pmod{9}.$$

Based on (3.6)–(3.8), and proceeding by induction on α , we obtain the desired results (3.2) and (3.3) immediately. ■

Finally, we prove the last congruence.

THEOREM 3.3. *For $n \geq 0$, we have*

$$(3.9) \quad \bar{b}(36n + 12) \equiv 0 \pmod{9}.$$

Proof. Selecting those terms on each side of (3.1) whose powers of q are of the form $3n + 1$, dividing by q , and replacing q^3 by q , we obtain

$$\begin{aligned} & \sum_{n=0}^{\infty} \bar{b}(9n + 3)q^n \\ & \equiv \frac{f_2^8}{f_1^4 f_4^3} \cdot 0 + 6 \frac{f_2^6}{f_4 f_1} \cdot \frac{f_4 f_6^4}{f_1^3 f_{12}^2} + 6 \frac{f_1^8 f_4^2}{f_2^4} \varphi^2(-q^3) - 3q f_2^4 f_4^2 \cdot 4 \frac{f_1^2 f_6^4}{f_2^2 f_3^2} \\ & \equiv 6 \frac{f_2^6 f_6^4}{f_{12}^2} \cdot \frac{1}{f_1} + 6 \frac{f_4^2}{f_2^4 f_6^2} \cdot f_1^2 f_9^2 + 6q f_2^2 f_4^2 f_6^4 \cdot \frac{1}{f_1^4} \pmod{9}. \end{aligned}$$

Extracting the terms with odd powers of q , dividing by q , replacing q^2 by q , and applying Lemma 2.4, we get

$$\begin{aligned} & \sum_{n=0}^{\infty} \bar{b}(18n + 12)q^n \\ & \equiv 6 \frac{f_1^6 f_3^4}{f_6^2} \cdot 4 \frac{f_2^2 f_4^4}{f_1^{10}} + 6 \frac{f_2^2}{f_1^4 f_3^2} \left(q^4 \cdot \frac{f_1 f_4^5}{f_2^2 f_8^2} \cdot \frac{f_9 f_7^2}{f_{36}} + \frac{f_1 f_8^2}{f_4} \cdot \frac{f_9 f_{36}^5}{f_{18}^2 f_{72}^2} \right) \\ & \quad + 6 f_1^2 f_2^2 f_3^4 \cdot \frac{f_2^{14}}{f_1^{14} f_4^4} \\ & \equiv 6 \frac{f_2^2 f_4^4}{f_6^2} \cdot \frac{f_3^3}{f_1} + 6q^4 \frac{f_4^5 f_7^2}{f_8^2 f_{36}} + 6 \frac{f_2^2 f_8^2 f_{36}^5}{f_4 f_{18}^2 f_{72}^2} + 6 \frac{f_2^{16}}{f_4^4} \pmod{9}. \end{aligned}$$

If we now take those terms whose powers of q are even, and replace q^2 by q , by Lemma 2.5 we obtain

$$\begin{aligned} & \sum_{n=0}^{\infty} \bar{b}(36n + 12)q^n \equiv 6 \frac{f_1^2 f_4^4}{f_3^2} \cdot \frac{f_2^3 f_3^2}{f_1^2 f_6} + 6q^2 \frac{f_2^5 f_{36}^2}{f_4^2 f_{18}} + 6 \frac{f_1^2 f_4^2 f_{18}^5}{f_2 f_9^2 f_{36}^2} + 6 \frac{f_1^{16}}{f_2^4} \\ & \equiv 6f_2^4 + 6q^2 \frac{f_4^{16}}{f_2^4} + 6 \frac{f_2^{44}}{f_4^{16}} \cdot \frac{1}{f_1^{16}} + 6 \frac{1}{f_2^4} \cdot f_1^{16} \\ & \equiv 6f_2^4 + 6q^2 \frac{f_4^{16}}{f_2^4} + 6 \frac{f_2^{44}}{f_4^{16}} \cdot \left(\frac{f_1}{f_3} \right)^2 + 6 \frac{1}{f_2^4} \cdot \left(\frac{f_3}{f_1} \right)^2 \\ & \equiv 6f_2^4 + 6q^2 \frac{f_4^{16}}{f_2^4} + 6 \frac{f_2^{44}}{f_4^{16}} \left(\frac{f_2^2 f_4^4 f_{12}^4}{f_6^{14}} + q^2 \frac{f_2^6 f_{12}^{12}}{f_4^4 f_6^{18}} - 2q \frac{f_2^4 f_6^8}{f_6^{16}} \right) \\ & \quad + 6 \frac{1}{f_2^4} \left(\frac{f_4^6 f_6^4}{f_2^4 f_{12}^2} + q^2 \frac{f_{12}^6}{f_2^4} + 2q \frac{f_2^2 f_6^2 f_{12}^2}{f_2^2} \right) \pmod{9}, \end{aligned}$$

which can be simplified to

$$\begin{aligned} & \sum_{n=0}^{\infty} \bar{b}(36n + 12)q^n \equiv 6f_2^4 + 6q^2 \frac{f_4^{16}}{f_2^4} + 6 \frac{f_2^{44} f_2^2 f_4^4 f_4^{12}}{f_4^{16} f_2^{42}} + 6q^2 \frac{f_2^{44} f_2^6 f_4^{36}}{f_4^{16} f_4^4 f_2^{54}} \\ & \quad - 12q \frac{f_2^{44} f_2^4 f_4^{24}}{f_4^{16} f_2^{48}} + 6 \frac{f_4^6 f_2^{12}}{f_2^4 f_2^4 f_4^6} + 6q^2 \frac{f_4^{18}}{f_2^4 f_2^4} + 12q \frac{f_2^4 f_2^6 f_4^6}{f_2^4 f_2^2} \\ & \equiv 18f_2^4 + 18q^2 \frac{f_4^{16}}{f_2^4} \pmod{9}. \end{aligned}$$

Equating the coefficients of q^n yields the desired result. ■

Acknowledgments. The first author was supported by the National Natural Science Foundation of China (No. 11401253), and the Training Program Foundation for Distinguished Young Scholars and Research Talents of Fujian Higher Education (No. JA14171). The second author was supported by the Fundamental Research Funds for Central Universities, 2014B14114.

REFERENCES

- [1] G. E. Andrews, M. D. Hirschhorn and J. A. Sellers, *Arithmetic properties of partitions with even parts distinct*, Ramanujan J. 23 (2010), 169–181.
- [2] B. C. Berndt, *Ramanujan’s Notebooks*, Part III, Springer, 1991.
- [3] H. C. Chan, *Ramanujan’s cubic continued fraction and a generalization of his “most beautiful identity”*, Int. J. Number Theory 6 (2010), 673–680.
- [4] H. C. Chan, *Ramanujan’s cubic continued fraction and Ramanujan type congruences for a certain partition function*, Int. J. Number Theory 6 (2010), 819–834.
- [5] H. C. Chan, *Distribution of a certain partition function modulo powers of primes*, Acta Math. Sinica 27 (2011), 625–634.
- [6] M. D. Hirschhorn, *A note on overcubic partitions*, New Zealand J. Math. 42 (2012), 229–234.
- [7] M. D. Hirschhorn, F. Garvan and J. Borwein, *Cubic analogues of the Jacobian theta function $\theta(z, q)$* , Canad. J. Math. 45 (1993), 673–694.
- [8] B. Kim, *The overcubic partition function mod 3*, in: Ramanujan Rediscovered, Lecture Note Ser. Ramanujan Math. Soc. 14, Ramanujan Math. Soc., 2010, 157–163.
- [9] B. Kim, *Partition statistics for cubic partition pairs*, Electron. J. Combin. 18 (2011), #P128.
- [10] B. Kim, *On partition congruences for overcubic partition pairs*, Comm. Korean Math. Soc. 27 (2012), 477–482.
- [11] B. L. S. Lin, *Arithmetic properties of overcubic partition pairs*, Electron. J. Combin. 21 (2014), #P3.35.
- [12] S. Treneer, *Congruences for the coefficients of weakly holomorphic modular forms*, Proc. London Math. Soc. 93 (2006), 304–324.
- [13] O. X. M. Yao and E. X. W. Xia, *New Ramanujan-like congruences modulo powers of 2 and 3 for overpartitions*, J. Number Theory 133 (2013), 1932–1949.
- [14] H. Zhao and Z. Zhong, *Ramanujan type congruences for a partition function*, Electron. J. Combin. 18 (2011), #P58.

Bernard Lishuang Lin
School of Science
Jimei University
361021 Xiamen, P.R. China
E-mail: linlsjmu@163.com

Erin Yiyang Shen
School of Sciences
Hohai University
210098 Nanjing, P.R. China
E-mail: sheny@hhu.edu.cn

Andrew Yezhou Wang
School of Mathematical Sciences
University of Electronic Science and Technology of China
611731 Chengdu, P.R. China
E-mail: yzwang@uestc.edu.cn

